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GGGCGGGTACTAAGGTGGGCTCCATCCCTGAGCCCAAGGCGGGCCGACAAGCTGCAGCGTGTCCCCGCGTGTAGGGTGGGAATGAAGGCTCCTGTTTTCTTCCCTACCCCAGTGTCC
GGGCGGGTACTAAGGTGGGCTCCATCCCTGAGCCCAAGGCGGGCCGACAAGCTGCAGCGTGTCCCC-———————————————————~— GCTCCTGTTTTCTTCCCTACCCCAGTGTCC
GGGCGGGTACTAAGGTGGGCTCCATCCCTGAGCCCAAGGCGGGCCGACAAGC TGCAGCGTGTCCCCGCGTGTAGGGTGGGAATGAAGGCTCCTGTTTTCTTCCCTACCCCAGTGTCC

GGGCGGGTACTAAGGTGGGCTCCATCCCTGAGCCCAAGGCGGGCCGACAAGC TGCAGCGTGTCCCCGCGTGTAGGGTGGGAATGAAGGCTCCTGTTTTCTTCCCTACCCCAGTGTCC
GGGCGGGTACT ARG T GG == == = = = == = = = = = o GCTCCTGTTTTCTTCCCTACCCCAGTGTCC
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GGGTTTCCCCAAGGAAATCAGGCCTCCGCCTAGACAGCGGCTCGGGACCCCACTTAAGTGGTGTAATCAGAGGCAGCTGTTTAAACTGGGAGAAAGGTCCCCACCCAGCCTTCACCC
GGGTTTCCCCAAGGAAATCAGGCCTCCGCCTAGACAGCGGCTCGGGACCCCACNNAAGTGGTGTAATCAGAGGCAGCTGT TTAAACTGGGAGAAAGGTCCCCACCCAGCCTTCACCC

L€ O O O TTCACCC
————————————— additional 46 bp deletion from g2----------------------additional 205 bp deletion from g3--------------—-
GGGTTTCCCCAAGGAAATCAGGCCTCCGCCTAGACAGCGGCTCGGG-~-~~===————=—= TGTAATCAGAGGCAGCTGTTTAAACTGGGAGAAAGGTCCCCACCCAGCCTTCACCC
GGGTTTCCCCAAGGAAATCAGGCCTCCGCCTAGACAGCGGCTCGGGACCC-—————————— additional 223 bp deletion from g3--------------——---——-
GGGTTTCCCCAAGGAAATCAGGCCTCCGCCTAGACAG-————————————-—-——————————————————— AGGCAGCTGTTTAAACTGGGAGAAAGGTCCCCACCCAGCCTTCACCC

GGGTTTCCCCAAGGAAATCAGGCCTCCGCCTAGACAGCGGCTCGGGACCCCACTTAAGTGGTGTAATCAGAGGCAGCTGTTTAAACTGGGAGAAAGGTCCCCACCCAGCCTTCACCC

8kb deletion from intron 1 to g3. Exon 1 is intact and Exon 2 is deleted

(wn) 223 bp downstream of g2 was kept
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